In-class Examples Chem 132-01
Wednesday, February 6 answer S Spring 2013

1. Several reaction mixtures containing only N2O4 and NO; were allowed to come to equilib-

rium at 25 °C. The equilibrium concentrations of the species in each experiment are as fol-

lows:

Exp# [N204]eqg (M) [NO2]eq (M)

1 0.5307 0.0495
2 1.114 0.0717
3 0.7456 0.0587
4 0.679 0.056

What is the equilibrium constant for the following reaction? Show that the same value for

Keq is obtained from each of the experiments.

N204(g) = 2 NOz(g)
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*#% Check with Dr. Fantini that you have the right value for question 1 before continuing. ***

2. What is the equilibrium constant for the following equation at 25 °C? (

(CCJ/( Hos reachen ® 2) 2 NO2(g) = N204(g) e Y kcg)z = [NLO‘(—]L
. [~o,]
_-ﬁe, NZO.,I (j) = Z No, (F"'e“’- fq?ﬂ,)) Ke_i 2 o.00Y402

This veache, 15 He, same reachen, Lot reversed.

\._

\

‘ = ~ 2 214.5  becawsa Ky o C
e Py = Kei,'z. )/

~

0,004 2

CZ,‘

3. What is the equilibrium constant for the following equation at 25 °C?

("—wu Hues reacheon ”‘3) NOa(g) = /2 N2O4(g)
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4.  For a mixture of N2O4 and NO; that is known to be at equilibrium at 25 °C, only the [NOz]
was measured. What is [N204] at equilibrium if the [NOz] = 0.0098 M?
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